
Paper / SubJect Code: 85502 / Seeurlty Anelysis and Portfolio Management

I)urstion: 2 % hours

QlA) Multiple Choice Questions:(any 8 out of l0)

l. Investors have to _ review and revise their po*folio
a) Regularly b) Quarterly c) yearly d) daily

Marks:75

[t Marksl

2. When profit after tax is 70 lakh and preference dividendis 12 lakhs with number of equity shares 25

lalhs then EPS= _
a) 2.32 b)202 c)2.52 d)3.32

3. institution is set by government of India for dealing with all matters relating to security
markets
a) IRDA b) RBI c) SEBI d) ICICI

4. When market premium is 5% and beta is 1.2 with risk free return 8% then CAPM=
a)15% b)14% c)10% d\16%

5. The primary purpose of investment is to
a) Gain b) lose c) win d) appreciation

6. The objective of portfolio is to redupe by diversification

a) Uncertainties b) certainties c) ratio d) balance sheet

7. Shares of known and financially sound companies are called as 

-

a) Bluc chip shares b) red chip sharcs c) grccn chip shares d) black chip sharcs

8. tfexpectcdreturnofALtd.,BLtd,CLtdis34.777Yo,29.82%oand,36.36o/orespectivelythenaverage
returns ofportfolio is _
a)33.64% b)33.6s% c\33.75o/o d)32.65%

is a money market security
a) Debenture b) commercial paper c) mutual fund d) gold and silver

10. If returns of Rarn Ltd are llo/o, l3o/o,l2Yo and 10% in past 4years then the expected return of Ram ltd
is-

a)13.25% b)rt.zs% c)lll% d)t1.45%

QIB) State true or False: (any Tout of 10) [7 Marksl

1) Public provident fund is a source of long time finance

2) Modem portfolio theory states that the risk can be reduced by diversification

3) IfmissPriyapurchased300sharesofABCltdofrupeesT0eachbypayingbrokerageof500then

Pb= 21000

4) Risk is less when retums are hrgh and it is more when retum is low

5) Thc modern walk theory is not based on efficient hypothcsis

6) Technical analysis believes stock market moment is 10% psychological ail90% Iogical

?) If Pe = 1,63,500, Pts92,000 and dividend +,000 then HPR=80.98%

8) Listing of securities is compulsory for only government securities

9) If equity share capital is rupees 6 lakhs market price of the share is rupces 20 and face value is

rupees 10 then number of equity sharr 30000

l0) The relationship between stock retum and market index skucture is called beta

9.
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Paper / SubJect Code: 85502 / Securlty Analysls end Portfollo Msntgement

Q? A) List advantages of portf,olio maoagement [8 Marks]

Q2 B) Write down steps for selection of Optinal Portfolio? [7 Mrksl
OR

Q2C) Mr. Abraham wants to invest in of ABC & Co. & of XYZ & Co. The probabilities and retums of bo$r
companies are as follows Jl5 Marksl

Calculate expected rehrm and s

invest in ABC Co. orXYZCo.

Return of ABC & Co (%) Probabilitv Return of XYZ & Co (%) Probability
t2 0.1 8 0.1
14 0.2 12 0.25
l6 0.4 16 0.3
l8 o.2 20 0.2s
20 0_1 24 0.1

expected rehrm and standard deviation ofboth and advise Mr. Investor whether shouldcompanies

Toral Industries Ltd. gives you the following information for the year cnded 3 I st March

Profit before Interest and Tax Rs 16,50,000

Tax rute 30%

Proposed Equity Dividend 25%

Capital Employed

l0oZ Preference Share Capital Rs 15,00,000

80,000 Equity Sharcs ofRs 10 cach Rs 8,00,000

l5oZ Debentures ofRs 100 each Rs 7,00,000

Reserves and Surplus Rs 12,00,000

Current Market Price per Equity Share Rs 50

2024:

You rre required to calculate:

I. Eamings per Share

III. Dividetrd Pay-out Ratio

II. Price Eamings Ratio

IV. Dividend Yield

[5 Marksl

V. Book Value per Share and state v,.hether it is worth investing in the equity shares ofthe
company

OR
Q3 P) Explain any three bpes ofchart as pan ofoharting techniqu€s in teehnical analysis? IgMrrksl

Q3 Q) What is the meaning of Portfolio Performance? ITMarksl

Q4 A) From the following calculate the portfolio performance measure according to Jensen's Model:
Risk Free Rat€ of Retum=I0% [EMarkrl

Q4 B) Vir is considering investnent in one ofthe following bonds

BON'D COUPON RATE MATURITY PURCHASE PRICE
Bond Trided tt% l0 years 75,000
Bond Vardhman 1Z% 7 years 68,000
Bond Welspun 10% 5 vears 80,000

sflourq De purcnasm/ (f y oI each bond ls Rs.
Will your answer change if the required rate ofretum is22%?
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Portfollo Averag€ Return Portfollo Betr
I 25% 1.5

2 19% l.l
3 28 o/o 1.8

Market Index 18% I
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P&per / SubJect Codel 85502 / Securlty Andysls 
'nd 

Portfollo Mcnrgement

OR

Q4P) How is cost oflnvestnenb different Aom carrying amount oflnveshnent? [7 Mrrksl

Q4Q) Define Investsnent? Distinguish between Investnent & Speculation'

Q5A) Compute the beta factors a$d €xPected r€turns for BHARATI AIRTEL Ltd'
Markslin earlier isl

YEARS BHARdTI AIRTEL Ltd. Market Return

I l60/o l2o/o

2 't4% t4%

3 t80a 20%

4 20% 2t%

Q5B) From the following information available for 2 firms, calculate the Earnings before Intereslq! T"*

OR

QSC) Wrtte rhort notes on: (lry 3 out of S)

l. Role of NSDL

2. Systernatic and Unsysiemafic risk

3. Stock Market Index: SENSEX and NIFTY

4. Benefits ofDePository systems

5. Market sentiment & tethnical analysis.

U5 MrrkNl

t +,1.,|.rt,t'l ||. t* + rt,B,l + + 
't 

+ rt *

[E marksl

EBIT). Eerning per Share (EPS), ttre OperCq4C !9Y911g9!rg-!!9Iin1!g!4
PIRAMAL QT'BEC

Sales (in units) 20.000 25,000

Setlirs Pric€ Der unit (Rs.) l5 20

Variable Cost per unit (Rs.) l0 l5
Fixed Costs (Rs.) 30,000 40,000

Interest (Rs.) 15.000 25,000

Tax (o/o) ,to 40

Number ofEquity shares 5,000 9,000
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